&)

AVASAVPIEY

AT ﬁ@%’r‘i%’é& A020. (Fill in the blanks)

. DY 00T T e B, BeeN.
. BRTTO ) 0inas aeerhdd.
. 230 B, THeod erdeess.
. oJTON B30T TePTD.
. B o3I oo BePTD adyedrt BePWH? (Who told whom)
. 33 B BRENTRED) FosdR)Due?
odrod FePTD? 00 BEPTD.

a0 BePTD? WVIBIN BELTD.

. e3e Q3ERE, FoJ3eB A3 ?
0T BEPTA? BTE BELTD.
0379077 BERPTD? &39c5007T HEPTD.

. “OBIFY, 30T ByeBTBID”
09D) BELTD? TITA) HELT.
0372077 BeRTD? &39c5007T BEPTD.

. 8RB W3BAD. (Join the letters)
23 + €8 =239

L83+ €3 = €39



Q. 3 +03 =39

Y. D + 08 =9

Bs. 0830003 2TADO. (Refer the model example to complete the

given work)

oR0: DB R3S

0. 3808Red - 3B
9. JreBeddre - Jpedr3ded
8. @peries - deerHdes
?. W3R - D3eI

. 00T ED?E'::SCS@M eVBORD. (Write answer in one sentence)

0. 230 ot BPTLIFD?

&V: 9900w JFoBrt BeTLIFD.

9. DyH00L BB OFomd BRNTD?

&: BYTIO0D WBVBEIIY, ‘elee wedee &2 B8 Q0w IRNBD.

2. QBB 0T @0t HI 0T TePTB?

&: BB AE3N0T D@07 'deSe adBee, FoTeS OB’ DO
BeRTD.

¥. oTTT 10330 B33 ¢ahd OIS Q=27

e: oJTT 3EIATF 3303 DT DI, AR



